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5HVHDUFK ,QVWLWXWH IRU ,QIRUPDWLFV�

&HQWHU IRU $GYDQFHG 0RGHOLQJ DQG 2SWLPL]DWLRQ�

����� $YHUHVFX $YHQXH� %XFKDUHVW �� 5RPDQLD

(�PDLO� QDQGUHL#LFL�UR

,Q WKLV ZRUN , SUHVHQW WKH UHVXOWV RI 6&$/&* SDFNDJH IRU VROYLQJ WKH 2SWLPDO 'HVLJQ ZLWK

&RPSRVLWH 0DWHULDOV SUREOHP IURP 0,13$&.�� &ROOHFWLRQ� ,Q WKLV H[SHULPHQWV , KDYH FRQVLGHUHG�
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7KH UHVXOWV DUH DV IROORZV�

  Ginzburg-Landau (1-dimensional) Problem   December 6, 2006, *** SCALCG Package ***
 Powell criterion for restart.   Stoptest = 1
      n   iter    irs   fgcnt  lscnt   time(c)       fxnew                gnorm
 --------------------------------------------------------------------------------------
 theta spectral
   1000  10001   4448   13113   3111   18856  -.2000321264091E-03   .1433005520331E-01
 --------------------------------------------------------------------------------------
 TOTAL   10001   4448   13113   3111  188.56(seconds)     proc= 44.48%

 SCALCG: istop (f)  total =      0    istop (g)  total =      0
         istop (fg) total =      0    istop (fr) total =      0

  Ginzburg-Landau (1-dimensional) Problem   December 6, 2006, *** SCALCG Package ***
 Powell criterion for restart.   Stoptest = 2
      n   iter    irs   fgcnt  lscnt   time(c)       fxnew                gnorm
 --------------------------------------------------------------------------------------
 theta spectral
   1000  10001   4448   13113   3111   18856  -.2000321264091E-03   .1433005520331E-01
 --------------------------------------------------------------------------------------
 TOTAL   10001   4448   13113   3111  188.56(seconds)     proc= 44.48%

  Ginzburg-Landau (1-dimensional) Problem   December 6, 2006, *** SCALCG Package ***
 Powell criterion for restart.   Stoptest = 3
      n   iter    irs   fgcnt  lscnt   time(c)       fxnew                gnorm
 --------------------------------------------------------------------------------------
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 theta spectral
   1000  10001   4448   13113   3111   18850  -.2000321264091E-03   .1433005520331E-01
 --------------------------------------------------------------------------------------
 TOTAL   10001   4448   13113   3111  188.50(seconds)     proc= 44.48%

  Ginzburg-Landau (1-dimensional) Problem   December 6, 2006, *** SCALCG Package ***
 Powell criterion for restart.   Stoptest = 4
      n   iter    irs   fgcnt  lscnt   time(c)       fxnew                gnorm
 --------------------------------------------------------------------------------------
 theta spectral
   1000  10001   4448   13113   3111   18856  -.2000321264091E-03   .1433005520331E-01
 --------------------------------------------------------------------------------------
 TOTAL   10001   4448   13113   3111  188.56(seconds)     proc= 44.48%
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